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31. In the morning the streets were flooded. There a cloudburst during the night.

(A) must have been
(B) has been
(C) must be
(D) must to be
32. She her friend to go camping with her.

(A) suggested
(B) appealed
(C) attracted
(D) persuaded
33. A comet is distinguished from other bodies in the'solar system
(A) is appearing
(B) 1s its appearance
(C) it is appearing
(D) by its appearance
34. We need to come up with a plan to reduce energy waste in the school.
(A) temporary
(B) controversial
(C) sustainable
(D) casual
35. The teacher tried to the importance of kindness in her studerts.
(A) install
(B) instill
(C) insist
(D) inhale
36. If 1 known about the meeting, I would have attended.
(A) have
(B) would have
(C) had
(D) has
37. The author is certain that her speech
(A) will be a success
(B) will success
(C) will be succeed
(D) will have success



38. about his facial express that reminded us of his unpleasant past.
(A) Something was there
(B) There were somethings
(C) Something there
(D) There was something
39. Our very sense of who we are is our place in a greup that we associate with.
(A) bound up with
(B) bound over in
(C) bound together
(D) bound through
40. Large language models, the most famous is ChatGPT, produce what looks like impeccable human writing.
(A) which
(B) with which
(C) on which
(D) of which
41. Pope’s fluency in several languages and cultural background helped him to with Catholics globally.
(A) interfere
(B) connect
(C) translate
(D) boast
42. Apple had designed pop-up messagesto | users from making purchases outside the App Store.
(A) dissolve
(B) discourage
(C) delete
(D) disconnect
43. The idea of extending the school day is still , but the final decision hasn’t been made yet.
(A) on the table
(B) at the entrance
(C) around the corner
(D) behind the door
44. Emily Chang has consistently earned high grades = | she enrolled in the honors program two years ago.
(A) unless
(B) if
(C) since
(D) during
45. A gifted tangerine tree , according to Chinese feng-shui experts, because in doing so, the receiver is essentially turning away
luck and fortune.
(A) should be refused
(B) should never be refused
(C) should have refused
(D) should have been refused
46. Many Internet services offer tools for parents to _ what their children can see.
(A) regulate
(B) twist
(C) estimate
(D) forgive
47. We had accidently left the restaurant without |\ | | the bill.
(A) payment
(B) paying
(C) paid
(D) pay
48. The Fact-Checking Center focused on the use of fake accounts to the public discourse.
(A) entertain
(B) inform
(C) mislead
(D) reward
49. After a district court judge refused to dismiss the case last year, the state asked the Utah Supreme Court to
(A) ignore
(B) intervene
(C) observe
(D) wander



50. While one set of dancers move clockwise, another set dance counterclockwise, resulting in a moving pattern of colors.
(A) boring
(B) dull
(C) quiet
(D) vibrant

More and more teachers are using technology to-fagilitate ianguage learning. Digital storytelling, online discussion boards, and
educational apps are just some of the tools used to engage students and improve language acquisition. However, it is important to note
that technology should not replace traditional pedagogy but rather enhance it. Teachers must be trained to integrate these tools
meaningfully into their curriculum.

51. What is an example of a technological tool mentioned in the passage?

(A) Dictation books
(B) Grammar translation
(C) Digital storytelling
(D) Role-playing
52. According to the passage, what is a crucial factor in effectively using technology in teaching?

(A) Fast Internet speed
(B) Teacher training

(C) Student engagement
(D) Using different apps

Protecting yourself against fraud and identity theft is important. That is why Oregon County Financial Bank offers three tips to help
ensure your safety.

Protect your wallet and mail. Account information from statements and biils is an easy way for thieves to get personal information
about you and your income. Remember to shred all documerits with important numbers before discarding them and if your credit cards
are stolen, report them immediately.

Update your computer. Hackers and professional thieves have ways to track keystrokes and websites. Make sure our computer is
updated with tools against viruses and spyware, both of which can be ioaded on your computer without knowledge. Keep these tools
updated to ensure your information is always secure.

Never give out personal information. Spoof emails and phone calls can'lead unaware customers to giving out personal information.
Never reply to emails asking for account numbers uniess checking with the company first. Make sure you know what sites you are
visiting. Also, never give personal information or account information to callers.

These simple tips will help arm against predators and thieves.

53. What is this passage mainly about?
(A) How to use virus programs and spyware safely
(B) Tips for saving and investing money at the bank
(C) The email and account numbers at Oregon County Financial Bank
(D) How to avoid financial deception and personal iiiformation theft
54. Why should you tear up documents before throwing them away?
(A) To keep your home clean
(B) To avoid losing money
(C) To protect personal information
(D) To help the environment
55. According to this passage, which of the following is one reason you should keep your computer software up to date?
(A) So you can use the newest apps
(B) To help the internet work faster
(C) To stop your computer from crashing
(D) To protect against viruses and spyware
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Did you know that Feeding America is the largest food rescue organization in the United States? Every day, its network of 200 food
banks and 60,000 agency partners works to rescue safe, healthy food and distribute it to neighbors facing hunger—helping ensure they
have the nourishment they need to thrive.

Surplus food exists and our mission is to find it. In fact, the United States produces 92 billion pounds of surplus food each year.
That’s more than enough to feed everyone. Yet much of this perfectly safe, wholesome food goes to waste and never reaches those in
need. Feeding America is working to change that.

Through initiatives like the Food Rescue Challenge, we aim to transform an additional 1 billion pounds of rescued food into meals
each year, turning excess into access. We collect surplusproduce, protein, and dairy products from grocery stores, food manufacturers,
and farms. Items like bananas and carrots can fuel young minds in school, while milk and eggs help families stay strong and healthy.

Once rescued, this food is redistributed across the country through our extensive network, making Feeding America the nation’s
leader in food rescue. In the past year alone, we recovered and distributed over 4 billion pounds of food.

We now have an incredible opportunity to do even more. By jeining the Food Rescue Challenge, you can help us reach our ambitious
goal and bring safe, nutritious food to millions more. Rescuing food not only reduces waste—it ensures that everyone has access to the

food they need to live and thrive.
56. What is the best title for this article?
(A) Designing an Application for Food Rescue
(B) Turning Surplus into Access
(C) Saving Life Below Water
(D) Rescuing the Earth
57. What is the purpose of this article?
(A) To discover new ways to reduce food waste
(B) To discuss how to equally distribute the rescued food
(C) To suggest how to improve the Food Rescue Challenge project
(D) To recover more food and help more people who face hunger
58. According to the passage, what is Feeding America?
(A) A non-profit organization
(B) A computer application
(C) A government office
(D) A trade company
59. According to the passage, how much extra food is produced in the US every year?
(A) 92 billion pounds
(B) 60,000 pounds
(C) 4 billion pounds
(D) 200 million pounds
60. Among the 17 Sustainable Development Goals (SDGs), which goal does this article most likely aim to achieve?
(A) Affordable and Clean Energy
(B) Clean Water and Sanitation
(C) Zero Hunger
(D) No Poverty

61.¢ +r-2; ABCD 78 ghix & & A(1,2) ~ B(5,2)~ C(4,6) ~D(2,6) » 3 s frajchm fF 2.5 > T2 Hix?
(A)12
(B)16
(©)20
(D)24
62.f >t p AR ™ A bt o vR— 1 I FRen ?
(A)E 33 BApARenp Rl T FF
(B)hod & B p RS Fo7RAAY v - B T#
O Zr Bipdhp e > 1 >3 - BAF &
(D)- ® g ’*ﬁ'{%{r’-‘%“ﬁi 11 qev ~ Lk s ;)» H ﬁiﬁ—; Efﬁﬁi
63 FF3 T e B eh AR A - 0 GO bk ’_'fm%é’;ﬂ}lr"f A=11-B=12>C=15>D=18 =~ - EF £ 1 100 ~
FORFIPRY 0 XFL R FH - LR 100 RO EF BRI AR T A S R )
R P S AR R
(A)AX2+Cx4+Dx1  (B)Ax3+Cx3+Dx1 (C)Ax4+Cx1+Dx2 (D)Ax1+Cx2+Dx4



64.% 7 F AL 1P A SRR R K e W e LR 50 ARG R Rl Bk AT T e
¥ 10 K BB OE RS- (L ES TR LR B E RO S T ff L 39T 2 24 ¥ 23R f

50T 20 0 (m=3.14)

(A)1024 (B)2048w (C)3072m (D)5127

65.7 B ¥ % ¢ H B hm fF 2 228cm’ > & 4 Bk £ RS a8 9 (n=3.14)

x| %

(A)31.4
(B)62.8
(C)94.2
(D)125.6

0D N

PETk - 2 E VPP SR 19k @ £ E b F 1 383F

5% 7 S0%FEIE M A A VLY LTS
A S % 741 *}F‘_gﬁﬁi » 3R ’1’-1"’; A\ akop % 14 ;FT%E_I* ?

(A)201
(B)206
(C)211

(D)216
7 i%

67 4cB(- ) %~ BEEE &2 £GP PR I B s B o L~ F0 e BRED &2 876

BAeent @ 5 @ 7
7/\ BI(= )% 3 45° — 45°—90° ¢h= & A
22.5° — 67.5° —90° = &2 >
/ FAEL 1 D RITE BEEEAY .
//Zh\
1 07 | ]
H L6504
45 y 3.5 y
__..j'd '-...,_‘_____-_ —
0.7 0.9
B(-) (=)
(A)0.45
(B)0.5
(C)0.6

(D)0.65
68.% - Bar k= £7) 0 FEA UG E 55,00 Bl x nfp 5 7 2

(A)0 < x <5v2
(B)5 <x <5v2

(C)5V2<x<10
(D)5 <x <10

~
|+
[—
(SR
|
)
S
-3
o
e



'*ffﬁ”{é‘f%ﬁl%ﬁié A 2 AR R 3
F)o k| T A HeiE e

T A|vR— B %L

69.2 X FF 5 1 (- E RREEAAR F%vfzﬁﬁ£>> "RBEAFLRRER
o RS B T A HeRE o ek end BT Al F 3 H R A (T
Bl | % - B A %i:fﬁm\gt[ 2RV QP
C|2 R EN SN
5 3 5 3 53 B (5
N 2 312 6 3] 3
4 5 45 20/ 10 4
s o s (ls
3 3 3 3 9 3
L2 o | 2,9 18 6 2
5 3 5 3 15 5 -5
s |2 L 3, 1_3_3
4 4 4 4 16 4
i% FF““?‘PE T E IR
PR AR E G A EDEE -
AR OAS & SRR IV WA ;' d
Fa ko 1o ffi- 2 1] o
HRO R R DB R ?
(A)F 3 7 qre
B)F 3 7 fof
©F ¢ fopi
D)7 ~ @ e
70.3% X & & Flc o X B A L f(x) &7 0 B F @+ F (2 4+ F(100) = ?
(A)622
(B)623
(C)624
(D)625
Fo- _E'_—“—*ﬁ By @ vl Tiodcs 15 M#es 12(F 58— Tl ¥ #ci 142 2585 100
R TR hEc ] BT A AL T VR- Y
(A)8
(B)9
(©)10
(D)11
NRFERax+by+c=0B T iE lab>0fr ac <0 PZER- T 7 ¢iEiF
(A) 1
(B) 1T
(C) 11T
(D) IV
BEf)=x>+ax’ +bx+c> Fx—1~x+2 3 HF2f(0) = —4-Fkc=?
(A)—4
(B)—2
(©)2
(D)4
b BELPE S pEAB A S {opF s Berdend B RS DR ?
(A)7O
(B)72
(©)75
(D)80

N

il
|

)
o

7o)
-

21
F

£ R

E

‘F‘C‘ﬁ,\—\]’g_‘ﬂ,199



75.F F| - o] fodg s - & £ 10117
(A)2.25
(B)2.5
(C)2.75
(D)3.25

TOFEFR T 3o TR 1 2T KRR FMEL ORE T WP P ALY
(A)F B F=%] & o] B B IR eri & ehld -4
(B)*x 600 5. chite 48 & 3 2 7 4=t g4 H d R gt I T 4
O et 3 27 2 1 27 hfed fphanic § 508 - %
D) et 42 &3 27 2 1 27 dafe b dp &59730 %] R R AR ehE

TIREFREF S B o2 A\ﬁn% TR EAIRE Y
(A)* & ~ A GLE A BT ot i)

(B)* i & fa R &3 A B B
(O ERSEAREN B Sl
(D)id A~ BLfgord » # B #dp %

78_@% FFE R w & ehlicd SofF o T RIeE 4 Elré;’]?rg b RAE S o TR AP F pE R Ao R 3o E ;z:;}j% (+ =
ERAAARTPRHL) P T ATEY AR RS 5T IR F R TR RIS R B g 2
(A)n-4-10
(B)n-11-10
(C)N-4-10
(D)N-II-10

79.00 T i F ALA] 0 V- fEEGE £ TS K2 Tt RE ?

(A7 B8 i -5 54 k3 353 5247
(B)_%‘}*igﬁ;#%;—éﬁa & - ®F 5453 ‘<p£7§ E75 R 9

€

(C)- & iz ™ % 53PS xj\ah% 13 & ARFLT 0L MR PR k3 9
D)- BE>AmE A S » T3 Ul?f%ﬂ»\;f R SR
80. T at 14 ¥ £ B % ﬁi/#ﬂ ¥ 45 & epe A o X R- 1} %a ¥ s —E)sm%(g 2 ’]rf—,_ g 409

A% - BV I
B)% = ¥ &
OF=8¥V Ik
(D)% = £ 3 1§ 5
8Lz PP FAdHEY P % S3-1 &2 4 & 1 ks & ) k] F 4o

“éﬁ!f\#&—sﬁéf\éﬁ%*ﬁﬁa BE THABALHE, Kns T84 .
st A 2 bR R e kAL TE &

At ANE & BY 0CRE MR E RARZTE & o
SRS/ NSNT o REE L TL MER e G R 2
A3 T

B)rpe

(O R B e

D)3 eqep

82.B 3% TN-1-1 - Foup i, FY M % > ¢ AR Alic BB g > T - BEFLPDRE RS LY
(A) 2 e~ e — Fr dc
(B)#cio— A dic— 2k #ic
(O)fici — A B~ A i
(D) 7 #ic— e — A ik

()
|+
[—
’._l
|
J
S
O
o
e



83.2 P 4 ikdp T & TR 0 BT R
P BB 4 B eiEd g
o B gk | 2t # 3k 5%
‘K 8 12 | 0 6 14
Z B3 W TR BT
e HEPN-Y VX &1
e BAUNE R ot feR A ELR RS2
=y I A
12
e I 10
8
vy I 6
4
e I ,
[P 0
0 2 4 [ 4 10 12 14 16 3 %ﬁ&k o Rk 7@_#‘?_
v o4 4
S T UN YT SR LS
16
14
12
10
'g
6
4
2
1}
B £ (223 i A3k \fEA

fd

B R N T
(A)‘*”ﬁb Brip OFFefp

ZHFEY TN39HE R A2 2k

(D)5 4 7 4=
RS O NN LY Ui

- , A N, . 32 B oo s
P - M ET 6% ° RLgd 3 R T A B
P AN “ R 3 - 5 4 e
T —ﬂﬂﬁﬂﬁ ENNPR - BE-L AN O s ;ﬁ‘,ﬂ%o
. . _ * [ x[* . 10
Fa: - g7954 1237 * | x| x| x| BT ML KA T ﬁﬁspﬂ‘ °
* | x| * 12
Bz REFR D b e A L AN ER AR D
Arje Br3p OFjFefn (D) e ppmg
85.1 XEF L 2025 & 1~6 ¥ ? F i HA(ArRIZ) R RFEEL AT TN-2-14 pFf @ & ~ 7 ~ & )
RH 2 MG MR R T A BEF AR A g & 1t5 A8 A2 BT
January February March
SUN MON TUE WED THU FRI SAT SUN MON TUE WED THU FRI SAT SUN MON TUE WED THU FRI SAT
1234 1 1
5678910M 2345678 23456738
2131415161718 9 101112131415 9 10111213 14 15
1920212232425 161718192021 22 1617 18 19 20 21 22
2 27 28 29 30 31 22242522728  Bnin252627 2829
April May June
L5 S 12348687
12 4 8 910111213 14
1516 17 18 19 20 21
. 6 22232425227 28
28 2 N 293
Bl= 2025 # 1~6 * * f‘;{’
(A9 p gl » TRABMLY 25 p BuBER 20 1Pk /- 2BF1 =2
(B)ELE 3 » ch? o EE - P §~ | E’?’ﬂii'tifri TROERT EAALL 2880 5 E QR
(CO)f #FBIL T 20 p BAFI 20 9Oppd ™ 1 Bllg &8 85 Fik- 25 829
(D)ﬁ Sﬂmn}g"”J ‘é’gﬁgﬁu%g}&ui& .;EF;—B&?
[+ 1054510 B)

~ B
AL

o TE 1357 5| pE
(?



6.1 T BIFENALFHE K R HRF
Ty as kERFOMTEARAELS S AT

I IR s N = e N ﬂiﬂif Pe g UR— g F b i £ 9

Filae 203 5B1orai i ?

= o égg.,»»glgy\g%);m@fi’.ﬂ;fgm \#,ymﬁfiptﬁiy:ﬂi—g-vﬂfﬁwﬁi{, ?
1

RRE A L E ELX P B fx‘ﬁ%-} WA ek s B R E e ?

A)7ep? B7Tep (Oe7p? (D)e "0
8784 A B Y i3 48 > L4 ru P T HBFd 4B 0fr8 B 1o o« £4 2 2@ fRdcirbdcd 48, 4725 &
HE o FA B EBRAEA - FELRERD
(A)F Bl E ~E R
B)E 7ML & =38 X
(C)RI 2 E A
(mﬁbﬁﬁﬁ“
BT ARG A Y - g > oo FREE AT A A PO R s g 8 e T VR B E
%ﬁg HEE 0 B £ TR e- KHE O AT
(A)2 & oo A
B)yaH fer oA
(C) ] prfe s 48
(D)= 7 e 5
89. k4 (+ - FRKEFA P FAHK L ) > T AR E 2 B S F Y AR
(A)a‘wﬂﬁl
(B)£ £ B
(O)F1=) &l
(D)E = B
90./] & it F;bpg Tebg oA g F A FlL e‘szv;é moiE g E o few BE & A AT FAMELD A FG
P-ZFE A Qﬁxfﬁ & % Van Hiele & i@ % % f =X erw8— 38 9
(A% %%;% K =
(B)~ ¥ 4 =
(C)F2) 3% i 3y =
(D) % A =

-

%7

9. P v FRESFFEH ol A Al w2 it EaNFEERF L FFHawm- B2t ?
(D252 BFher (Ot (D)X Lree o
NABE AR GHR T2k Fai > BRAAFL L T A A2E | L& Mo BT AE3 B G - 5
% ?
(D% $57 Rp B)1BRR= £3 (O ERREY (DT8R40 -
93.p 1635 & B 45 » i . «w%‘ﬁvfw% O ER A AR §UG5 4 SR A FESIRTE D
(WD lsspied g BFes L (Ot @7 -
04k 5 = A A FEL JMW&@&H—4#§7m%$°%*wiﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁ?
D pFiETrs B redvrREFAE (ORI EF(EFRSF) DAFELs ¥ Fra o
95.4 % A% 53 F BB BAr i E R B TAIRER AR B E N ?
(DK L soiie Fidesg (B)» 7 A5 2 43 Ea
(C) Beig /e 4e (D)7 ® 7 LAe g Az e e
96.F F|o— 37 AW At 1936 Ed MRS CERE Rk EP ~FEL S FARE AR I EL g L 0d 20
MDFh ¢ @BEFi~E (O 2F (D)4 s fprEsn.
T FH kIRt  HEa R RAFLYREE Ay LR E2 A% 17 LRl R (FH sy ?
Mfer Bxd  OF2  DBE -
%%wwm’dsmpJia—ﬁﬁia*ﬁm?ﬁ%ﬁé’ﬁﬁ%ﬁﬂ—%§%%*<%ﬁ ARSI 1
v A E § s 8L 9
(A)s #makrx (B)% L (O T | (D)2 £ gk
99.4 % P ipPR D £3RE Y 0 T I f A G p
MR etrRE BaREr Ohitam DRIEF
100.4 7 9y zengififop 1 241 % 78— 4 ek ?
Mg BEmsd O p s DF/4 -
(#1137 >%11 7]

FA 7

I

Az
{F] o



